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Seating Arrangement ( Day 2)

Five persons, A, B, C, D, E, are sitting around a circular table facing towards the centre.
1) Aiisthe neighbour of E and D.

2) B is second to the left of D. Who is to the immediate right of B?
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Seating Arrangement ( Day 2 )

Seven friends Aditya, Harsha, Sravya, Nidhi, Karun, Prem and Umesh, are sitting in a row facing north, but not necessarily in
the same order, and watching a film in the theatre. Prem sits at the second position from either right or left. Two persons sit
between Nidhi and Prem. Sravya sits fourth to the left of Karun. Umesh sits to the immediate left of Nidhi. Harsha sits third
to the right of Sravya. Sravya is not sitting at an extreme end. Who sits to the immediate right of Prem? SSC MTS 27-10-
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(a) Aditya (b) Karun (c) Nidhi (d)




Seating Arrangement ( Day 2)

Q. Eight persons A, B, C, D, E, F, Gand H are sitting around a circular table facing the centre.. D is between G and A,
and is facing B. F is between A and H, and H is third to the right of D. E is second to the left of G. Who are the
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Seating Arrangement ( Day 2)

In a line, five friends P, Q, R, S and T are sitting, all facing East. P is sitting at the second place
to the left of T. R is third to the left of S and also to the immediate right of P. Which two
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Seating Arrangement ( Day 2)

Q.Five friends are sitting on a bench facing North and South alternately. R is sitting at the left corner and facing
North, and T is second to the right of R. If P is third to the left of Q, then what is the sitting positionof S 0.4
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Seating Arrangement ( Day 2)

Eight houses, A, B, C, D, E, F, G and H, are in two parallel rows, | and Il, with 4 houses in each row. The houses in each row
are at equal distances. The four houses in row-| are facing north, and are facing the four houses in row-Il. B in row-| faces F
and is not at an extreme end. H is adjacent to F and is facing D. C and E are diagonally opposite. E is facing A, which is
adjacent to H. Which of the following statements is true?
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(a) B andE are adjacent to each other. 0( I - — — '_
(b) A is the second house to the left of G.‘( /

(c) G is at an extreme end and is facing north.

(d) H is between C and G. T E D G ﬂ



Seating Arrangement ( Day 2)

Five persons Lopa, Kripa, Sumi, Jani and Sush are sitting in a straight line facing north. Sush is to the immediate
left of Sumi, Jani is to the immediate right of Lopa. Kripa is between Sush and Jani. Who is sitting between
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Seating Arrangement ( Day 2)

Six friends are sitting in two lines, one behind the other line and all the friends are facing north. Each line has
three friends. Jogi is sitting between Vikrant and Saroj.Shrikant is sitting just behind Vikrant. Vaani is to the
immediate right of Tripti. Which three persons are sitting i same line” ©¢ eI 2 Uiaaal o G 1) %, P
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(a) Jogi, Vikrant and Tripti
(b) Jogi, Tripti and Vaani
(c) Vikrant,Vaani and Tripti .
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Seating Arrangement ( Day 2 )

Eight friends P, Q, R, S, T, U, Vand W are sitting around a rectangular table. R is sitting at the north-west, R and
P are placed diagonally opposite each other, whereas V and U are placed diagonally opposite each other. W
faces the west direction, Q faces the east direction, and S is sitting between R and V. In which direction does T
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Seating Arrangement ( Day 2) \%ﬂ
Ajay, Lalit, Charan, Dhruv and Gajendra are five men who are sitting in a row facing south while Mayuri, Narmada, Shalini,
Priya and Harshini are five women, who is sitting parallel to the first row in the second row facing north. Lalit, who is sitting
immediate left of Dhruy, faces Harshini. Charan and Narmada are sitting diagonally facing each other. Gajendra sits opposite to
Shalini, who sits immediate right of Mayuri in the neighborhood. Priya, who is sitting immediate left of Harshini in the
neighborhood, faces Dhruv. Mayuri is sitting at one end of the row. Who sits third to the right of Shalini? 314, ﬁﬁ?{, LU
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